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% FS +0.05 % FS
1
p1 C €1
C €1
1 ( )
AP(kPa) | F(%) | F(t/h) (t/h) t/h %

0 0 0.000 0.000 +0.00 | +0.00

1 10 12.50 12.54 +0.04 | +0.03

4 20 25.00 25.02 +0.02 | +0.02

9 30 37.50 37.53 +0.03 | +0.02

16 40 50.00 50.00 +0.00 | +0.00

25 50 62.50 62.52 +0.02 | +0.02

36 60 75.00 74.99 -0.01 -0.01

64 80 100.00 99.97 -0.03 -0.02

100 100 | 125.00 | 124.97 -0.03 -0.02

Il 0.5%
0
1
>50% FS
q=kyAp <50% FS >1
1
q=10% FS <0.03% FS
0.06 % FS 2
1 FC 6000

p1



24V DC

P+F

2 )
AP(kPa) | F(%) | F(t/h) (t/h) t/h %

0 0 0.000 0.000 +0.00 | +0.00

1 10 12.50 12.58 +0.08 | +0.06
4 20 | 25.00 25.04 +0.04 | +0.03

9 30 | 37.50 37.55 +0.05 | +0.04
16 40 | 50.00 50.00 +0.00 | +0.00
25 50 62.50 62.52 +0.02 | +0.02
36 60 75.00 75.00 +0.00 | +0.00
64 80 | 100.00 99.98 -0.02 | -0.02
100 100 | 125.00 124.97 -0.03 | -0.02
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p=d/D d u 3) Qm

Qm FC 6000 15 )

d=30.00 mm
d’=29.99 mm
D=50.00 mm
D’=50.02 mm
Qm=1000.00 kg/h

B 0.6
999.12kg/h

B' = d/D’ = 0.59956 @ 3
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PEPPERL+FUCHS  Ex-i-Interface DIN-Rail HOUSING 1996 203
GB/T 2624-93 5~22
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